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Problem 1 - _ |
Consider the following informa }{ 100 Marketable GECUTTHOS o msrt v eessacrasnarinisn 50
= Accounts pa}rﬂbie ......................... 5 ot -:}.l'ES' pa”yable ____________________ cassetnassEsARsnara 50
A ccounts receivable i e
,.4';1-1{9& WAZES coicissssainsisisssessssssssdnitts 100 Other E!.CEI"[{LEIS B 3055
. Accumulated depreciation...........o.. 800 Paid:in capital....iocoemiiroesicemeisimncnninnes mﬂ
- Cash ... e 2 L8 Preforred SEOCK ...
-u.—Cnnm}on sttn:k (Rs Ipm} 200 Retained €ArniNg ..o 700
Deferred taxes... oo 150 Treasury SEOCK ...ovoicicericnmessciniacsinionnes 100
Gross pmpert}r and plant woreeen2,000 \Inventories o ,;.'._......-....T..,.......«iﬂﬁ
Long ferm deth{lﬂ &7 ]ﬂrt.n‘} L -1)

Required: Balance sheet

" Adopted from Weston and Copeiand 21
et A assets = Rs. 2150 -

Proble

Papa Roach Exterminators, Inc., has sales of Rs. 432,000, costs of Rs. 210,000,

epreciation expense of Rs 25 000 interest expenses of Rs. 8,000 and a tax rate
of 35 percent.

.. What is the net income for this firm?

ii. » Suppose the firm paid out Rs. 65 Sk
addition to retained earnings? 000in cash dividends, what is the

iii. Suppose the firm had 30,000 sk

are the earmngs per share stock Uutstandmtr whﬂf
share figure? e hg“m" What is the

- Hy 122 850, Eps Rs 410 and DDF?tsagsfmm B Westerfield and Jardon 24
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| FINANCIAL STATEMENTS AND CASH FLOWS CHAPTER 2 m

e foll nwmg information: _ -
..... .Rs 450,000 Cost of ;_:;pnd;:l sold ..... e 2230000 1
fe ERIPEIEOH s it 50,000 Selling expenses..... \pupre e 2 R 2
------------------------------------ 15,000 TESEESE iousmivssiuvsmimsssiammrmssmnsspesnass .. 10,000
N 40 % Number of common stocks ... 2,000
J I{eq“i”’d (i) Income atntvmt nt (i1} Earning 'pcr share :
L # Netincome Rs 72,000 and EPS Rs 8,00 i
prnhlem
sider the following information
Bl 1o i ..Rs190, 000 Material ... I 60,000
R ..30,000 Heat, \ltghl puwer e 0000
Tndirect 1F=1"ﬂ111' ---------------------- 11,000 Depreciation... i i SHOR
_Gelling wpemﬁ ................... 20,000 Interest 2,5{30
211,000 Tax rate Ei} %

L O fhce E)q."E‘l"l.‘EEH ...................
nt to determine net income

’ Requu-ed Income stateme
g » Netincome Rs 18,750 /
wﬂem ? pl : o

Klingon Widgets purchases

miltion. The machinery ca
ce sh

or Rs 11}1011 {r AJ

Ak UQ, current

Klingon sturrent balan
f' Rs. 18@@000 and net worhng )£ 9[]1‘.} 000. If all the .
oulcl recmve Rs A G

 liabilities ©
“cutrent -assets Were hqmdated today, company,;
" million cash- .;;‘\r'" ”/%, i AL
e What is the book value 0 Kb{mgon s assets tad,,w? : % ’
3i. Whatis the market value? X

# [i)Rs. _;3,013,2@ (ii) Rs. 5&4.@_505
Prnbtemg
Gonasi Inc., has been sales of Rs
_of Rs. 1,000 and interest expense
the operafing cash ﬂ?w or OCF?

Adopted frorn Ross, Weste:ﬁsld and Jordon:

9,750, costs of Rs. 5, 740, depreciation expense
of Rs. 240. if the tax rate is 35 percent what E”f

Adopted from Ross, Westerfield and Jordon

# Rs 2,956.50

- The ;:c@\ber 2% 2001 balance sheet of Venu’s Tennis Shop showed current
" assets of Rs.1,200 and current liabilities of Rs. 720.. The December 31, 2002,

balance sheet showed c:urrent assets of Rs.1,440 and current ha‘mhhes Bﬁf

- Rs.525. What was the' company’s 2002 change in net working capital or NV
w "y ' Adepted from Ross, Wésterfield and

s 438

Problem 32

3 Ni:-telsd e -: following information Kailai Cﬂrpuration
&cc:uapl?alg """""""""""""""""""""" Rs.]S{Ir 000 Deferred taxes ...
o oy
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clA
gnTALS OF FINAN srabless g
2 FUN pAM : A{_Cl]ltr1l recety B ""'*ﬂ{]‘ﬂh. -~
cHART ER &0 flald] = debt e ann; i,
m 2 - limf”["-] Leng ll’l’L]E :_)_ECLZIJ"F‘-HE‘S..........,,,,____. ISQr ]&1\“;:
Retained !".'IT'Ii-.?I'I'J,.:- ; 00,000 narketat {:H%Lﬂ
& ceount payd e -]-";“”'mm al
[rvennior) i
(1SS ||-|.! 'ij{ Jance sl it - n;rjll'.m‘] l e
"l"l”“.‘ﬁd: ...I r|.|I sanmie sheet piEd \t—#
T h owing income and ey, LK
= el 9 e A . rO "Jnrh.‘i'] the foll & pemﬁ':.fl
Problem *7 Company has €] |
e nldstone I'_ : : £
I |"|‘ fir A0k 3 ,1T'II| .{1[]14' 20x3 \2%%‘.
R I S R i Rs 40,000 45,0 ¢
.............. A
Year e S 20,000 20,0y '
Kevanies ettt T s ; A E
Cost of sales | gxel, deprd i eI T e ?’ggﬂ 5_5{}}
Markeling N]wnst‘h. b 1;:!1*“? 800 LEﬂ!h ]
General administralive iz 1#’2‘06 2,{][}“!';‘_
Depreciation oo e 5000 100
"o Interest E){PE‘“SE“....................,,...- ‘-__.""_P____‘,_,....-........e........”...4(:'“}‘9 340,"“"
I| Tax I&l'{:."u-----"'":"'""""'"""""" e e e ra Ay smmEEae A SRR R 2’;000 1‘.[“:‘]
| Accrueddax paid oot mm o ——
Required: 1
e (i) Prepare income statement for 20x3 and 20x4.

(i) What is Goldstene’s operating cash flow for each year?
(iii) Discuss the djffé{encé between net income and operating cash flow.
_ Adopted from Weston and Copelandy;
i : i) Rs. 10,200; Rs. 15,700 . o A
% () Rs. 3,600; Rs. 3}&2 (i) Rs s €= CBI1 TﬂrfW_@.

Problem @ iR L _
The Roark Corporation hgi; Rs2,000,000 in long term debt with an interest ra

0f12 %, and no other intérest bearing debt . It had net revenue of Rs 4,000,00

in 19x6, and its cost of sales (excludi preciati
Depreciation exprense e depremat;qn)_was Rs 1,800,000

-~
\ _ .
j j‘ Rs 250,00, Fron ?nsie‘:tifeﬁ ;m Marketing and general expenses wex
|
B

incomie of P 100,000 et of made in other companies, Roark hat
s N Expenses, Roa: X '
Bzl J ﬁ}ens; 1ts<£:(:u e Xpenses. Roark uses a % tax rate in reportsi

; i5 259
(i) What'is Roark's .E&Df :
() What i e e 5105 I0Rne for 19567

& () R * i S N

- 22,00.000,
1831250 N0/ Gi) Re1g 4l e
- m (i) Rs, 1};@ :ngufmfmjwsstn?iagd Qoqei{avr;dg

L Ing, re
Mcome fEBl‘T)W
hat wag ¢, " Millj - St income I |
*Pense f,, Y Pays a 40 | fé
. € for percent tax ra
‘ € year? '

a
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APTER 2 Co e e
m i Re‘ﬂf“‘“"‘ earnings C"—_Q—-— A0g
i e — sear endeg
3 q{l == i_.!:!-_ﬂ—_' TUta: ﬂt\ A ‘__1‘] rI‘!lﬂfﬂh’ }
------------------ — cand retal cd
Total st tatement of INCOME o —--—"""_'_'_F._._._.R_ﬁifg\
i 42 (_‘m-}_-mrﬂllt'}ﬂ -'1t‘:| g et
i 2:(in mdlli_"_"ff_}_—r—-"‘" I
b S T et Rs 25
_i';\[-‘t_."-ﬂ![_‘,hi e phaupnies meonn s e gt iy doE Lk =
E_-_Mwn,c:uﬁ' i RS T ity R GER csesiper s ;
| e ix,, :qU]L . g e E’:‘kFth ______
Cost of goot dministrafive ansrssee ) 37
g seral, and admiiie e B ke S e B ¥
Selling, general B cacert et L e e 11
Depreciation o i I s RS 4
lnteresh o sr S e T e B et
Net income before taxes {.'.[].'-'? _______________________________ e 7
Less: Taxes -------------------- 40
& Add: Relained eAmInERE s T L i , 3
Less: Dividends - ¥T.rmeee e e e 5ol
: : R i Eort
Retained earnings at 12/31/ for X2 using the direct method he
Prepare a statement of cash flows for
a. ; :
Svoboda Corporation . and uses of funds) statement for X2 for the
b.  Prepare flow of funds (501“-"‘3" Al ufh "
; ' ing indirect method.
Svoboda Corporation BRS¢ - Adopted from Vanhorne 7.2
.&-j/ﬁs 43,000,000 —
- rghilem 17 %

__Jeginning and end of 1995 follow. The company bought Rs 50 million worth
of fixed assets. The charge for depreciation in 1995 was Rs 10 million,

Farnings after taxes were Rs 33 million, and the company paid out Rs §
million in dividends.

. Fillin the amount of source or use in the appropriate column.
Lloyd Lumber Company: Balance Sheets at Beginning and End of 1995
(in millions)
Janl  Dec 3 Change
_ (Cash Source Use

LI’v[arl«:e'tal:uIe security = Rs 15 —_ .
Net receivahle Rs 0 Rs B

Inventories |/ B350 RS20 ™\ e
Total currepy assets Rs 53 Rs 75 o,
Cross fixed assets mﬁ‘j{?ﬂ? S N i

S Accumulate deprecia Rs 75 Rsls ——
MEt fixed as&EtE lﬂ.tli}f] 25 :'3

Notes

Other il P Rs 18 = maR
Cl.lrrerft habﬂiuﬁﬁ 3 RS ].:) e —

Lo e e T
Common stock Re Z Rs 7 St 2
Rs 29 1;3524 o ity

37 e
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aa T - Rs 67 1{1{5_.__.-‘.:_?5—'

Re 14D RE2I8 | e

T and e« uit

'I'I‘fﬂ-'l sol{TiEs minsd r'f;[h'r?? fatal USESs

. statement of cash flows.

Adopted from weston and Brigham 312
a Total SoUrces = Total usas = RS 102 million; b. Net rash flow from ppergtions = Rs 18,
F 3 - ¥

© net cash fiow from tinancing = Rs 5
E: i

———

jem 18~ .
thﬁ.t,;ﬁo;-i"}ij:lmmc (_'n:'pm'mlivn'h (NEC) balance cheets for 1989 and 1988

i 33 1,
, arketabl{? SELUﬁhES ................................. / T - -
0 &>

et et ey - 159
o T S s T
Total current 2SSeLS cureeriessiarees e s LT L shiasingaresn Rs 336 Rs 303
Gross fixed assej,sp‘g’g- \%E'ZE‘T?/
LessaccumUlEhEd depreciatiapl...*....._...“..,.............-.,...........'.....1 18— R
Total assets ruererseers eessreroes iR vererens RS 663 Rs 450
Accounts payable Rs 54 Rg 45
—)Notes pavable 9 45
Total current liabilities ..coemamsseneer e s S T Rs 108 Rs 111
_$ong-term debt 78 24
—Common stm:k~ 192 114
Retained @AITUNGS ..oursesmreseeers __235 0571
Total long-term capltal‘ﬁs 555 Rs 339
Total liabilities and equlty]&g_ﬁﬁﬁ Rs 450
Additionally, Nelson's 1989 income statement is as follows (in millions):
Cost of goods sold 888
General EXPENSeS ,u....uimmssssrmssrsrsss i 300

b e St SR Rs 177

Construct Nelson's 1989 statement of cash flows.

Adopted from Weston and Brigham 3.13
# ‘Cash flows from operations = Rs 88 million, Cash flow associated with lopg-term
Investments = (Rs 225) million, Cash flow from financin

g = Rs 80 million. /QO
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